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M HELS4 TS caret glmnet LibLinear
library(caret)

library(LiblineaR)

library (glmnet)

set. seed (1) #ELBFEWEAE

HHHHHH

#Ht glmnet|< & S %05

M ANAMAT—42

data (dhfr) )
dim(dhfr) # 228%&k5T, 4> FILE32B SRT/IMERT—4
names (dhfr)

tAET—R2ETANT—2DER

train. index <- sample (nrow(dhfr), nrow (dhfr)*0. 75)
data. train <- dhfr[train. index, ]

daga.te?t <- dhfr[-train. index, ]

indy =

dhfr.glm <- glmnet (as. matrix(data. train[, —indy]), data. train[, indy], family="bino
mial”) #7 7+ JL kTalpha=1. D% YLIEH|{E.

plot. new()

plot (dhfr.glm) #IERHE/RZRDTH Y +

lamseq = dhfr. glm$lambda #IEBME/ NS A —% D3I

dhfr. glm. cv <- cv. glmnet (as. matrix(data. train[, —indy]), data. train[, indy], family
="binomial”, lam=|amseq) #CVR I 7 DitE

par (mfrow=c (2, 1))

plot (dhfr.glm.cv) #CVRa7H7Ow k

plot (log(dhfr. glm. cv§lambda) , dnhfr. glm. cv§nzero, xlab="10g (Lambda) *) #228Z%®M 5
LEEHNTLADIEFS0EH LT R/A—X !

par (mfrow=c (1, 1))

(dhfr. gIm. cvénzero[which (dhfr. gIm. cv§lambda == dhfr. glm. cv§lambda. min)]) #CVT:#E
ENF=E 171

(class_err_glm_cv <- mean(data. test[, indy] != predict(dhfr.glm. cv, as.matrix(dat
a. test[, —indy]l), s=dhfr.glm. cv§lambda.min, type="class”))) HIR#|IR|=E

# Zlambdal E DBRFIFES L UVTRA T2 TOEDHBRLEERD S.
class_err_glm <- ¢ (1:length(lamseq))
prgd_gcc_glm <- ¢(1:length(lamseq))
.
for (lam in lamseq) {

i <= i+

(class_err_glIm[i] <- mean(data. test[, indy] != predict(dhfr.glm. cv, as.matrix
(data. test[, —indy]), s=lam, type="class”))) #:5%I|R|==

pred_link <- predict(dhfr.glm.cv, as.matrix(data.test[,-indy]l), s=lam, type="
link”) ftbetaT xMDIE.

pred_prob <- predict(dhfr.glm. cv, as.matrix(data.test[,-indy]l), s=lam, type="
response”) #5~JL=inactive& % HHEER.

activeyind = which(data. test[, indy]=="active”) #7 X FT—4& TS5~ )L=active
&&0(“64/7/71

(pred_acc_glm[i] <- (sum(log(1+exp (-pred_link[-activeyind])))+sum(log (1+exp(
pr).[ed_l ink[activeyind]))))/length (data. test[, indy])) #T7 R FT—2 TOARDIIL

——

plot. new()

par (mfrow=c (3, 1))

plot (lamseq, class_err_glm, log="x", ylab="$IRIZRZE")

plot (lamseq, dhfr. glm. cv§cvm, log="x", ylab="CVR a3 7")

plot (lamseq, pred_acc_gIm, log="x", ylab="F HI¥EE")

par (mfrow=c(1,1)) # CVR a7 &L #IBIBE - THKEELDBERIZEE

B
## LiblineaRZ R UL N=L1IEBIME % BI 4> 4f



# R/NLA—)LEIR

spam <- read. csv (”. /spambase/spambase. data”, header=FALSE)
train. index <- sample (nrow (spam), nrow (spam) *0. 5)

data. train <- spam[train. index, ]

data. test <- spam[-train. index, ]

yind <- 58

dimx <- 57

numlam <- 20
lamseq = 10" (seq (-4, 4, length. out =numlam)) #|ambdad &

class_acc <- ¢ (1:numlam)
i <-0
for (lam in lamseq) {

i <= i+1;

spam. liblin <- LiblineaR (as. matrix (data. train[, 1:dimx]), data. train[,yind], t
ype=6, cost=lam, epsilon = 0.001) #cost(X1/lambda®d & 5%+ D).

class_acc[i] <- mean(data. test[,yind] == predict(spam. liblin, as.matrix(data
.test[,-yind]))$predictions)

max (class_acc) iz 7% ¥ Bl F5E
plot (log(lamseq), class_acc, type="1", xlab="10g (1/lambda) )

bestlam <- lamseq[which. max (class_acc)] #&3i&7:|ambda
spam. bestliblin <- LiblineaR (as. matrix(data. train[, 1:dimx]), data. train[, yind], t
ype=6, cost=bestlam, epsilon = 0.001) #&FZE7%:|ambdaTD R

which (spam. best!liblin$W==0)
table (data. test[, yind], predict(spam. bestliblin, as.matrix(data.test[,-yind]))$p
redictions) #& < ¥R TETLVS.

HEWTOVR a7 L EEQHIFREDEFREZTOY FLTH5.
QVZSCgRE <= ¢(1:numlam)
v
for (lam in lamseq) {
i <= i+1;
CV_SCORE[i] <- LiblineaR(as.matrix (data. train[, 1:dimx]), data. train[,yind], t
ype=6, cost=lam, epsilon = 0.001, cross = 10)

plot(class_acc, type="1",col="red ,ylim=c(0.7,0.95))
[ ines (CV_SCORE, col="black’)

B TEDR/NLA—)LHFTIIERTOEEZR =4, BEEROH DAL,
PROYIDFIZHBDT—FITHLTHSERLNESS.

# ECML-PKDD 2006 Discovery Chal lenge

# http://www. ecm|pkdd2006. org/chal lenge. html

# Download of Data SetshHT—# [EFICAB. i .

# livsvmI7 4 —<y FCT—ANEREINTNIDTT—FDEELSBE.



